@ @ ﬁ % Exponentes negativos de 10

Nombre: Fecha: Puntuacion:
1072 = 554,7+ 107 =
1077 = 1002 =
1009 = 857,7 x 1002 =
193,4+ 107 = 4%10=
107 = 722, 4% 100D =
6x 10 = 703, 8 x 100D =
189,9 x 10 = 9 x 1004 =
1000 = 874,8 x 100 =
1009 = 4% 10 =
264,2 x 100 = 178,2 x 100 =
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@ @ ﬁ ? Exponentes negativos de 10

Nombre: Fecha: Puntuacion:
1072 = 0.01 554,7+ 107 = 554700
107 = 0.001 1072 = 0.01
107 = 0.0001 857,7 x 1072 = 8.577
193, 4 + 107 = 193400 4% 10 =40
1072 = 0.001 722,4 % 1079 =72.24
6 x 10 = 60 703, 8 x 10" =70.38
189,9 x 10 = 0.1899 9 x 107 = 0.0009
1077 = 0.1 874,8 x 1077 = (0.8748
107% = 0.0001 4% 10 = 40
264,2 x 1007 = 0.2642 178,2 x 102 = 0.1782
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